AUFBAUANLEITUNG

ERGONI HOME




BAUTEILE UND WERKZEUG

N 7N
\2) \19

work in balance

Name Stiick
Arbeitsflache 1
Halterungen 4

Beine 2

Tischflike 2
M6*16 Schrauben 9
M5*12 Schrauben 9
M6*8 Schrauben 9

Kabelbefestigungen 6
3 mm Inbusschlissel 1
4 mm Inbusschlissel 1

2rgoni



SCHRITT 1

nnnnnnnnnnnnn



SCHRITT 2

M6*8 Schrauben 8 Stiick

4 mm Inbusschlussel

2rgoni

ork in balance



SCHRITT

3 mm Inbusschlissel

M5*12 Schrauben 8 Stiick

2rgoni



SCHRITT

M6*16 Schrauben 8 Stiick

4 mm Inbusschlussel

2rgoni



SCHRITT

Kabelbefestigungen

AUFBAU-BERATUNG?

InieJ

sfuhrliche Beratu

gerne direkt unter:

Bei Fragen oder fiir eine au

Sie uns

aktieren

kont

info@ergoni.de

N
0
o
0
-
=]
o
(2]
~
N
n
-
(=]

(0]
°

o
N
-
o
o
n
n
n
N
N
0
N
(=]




